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‚◊ÿ — 3 
1
4  ÉÊá≈U  

¬ÍáÊÊZ∑§ — 40 
 

 ¬⁄UËˇÊÊÁÕ¸ÿÊ¥ ∑§ Á‹∞ ‚Ê◊Êãÿ ÁŸŒ̧‡Ê —  
 GENERAL INSTRUCTIONS TO THE EXAMINEES : 

 1. ¬⁄UËˇÊÊÕË¸ ‚fl¸¬˝Õ◊ •¬Ÿ ¬˝‡Ÿ ¬òÊ ¬⁄U ŸÊ◊Ê¢∑§ •ÁŸflÊÿ¸Ã— Á‹π¥ – 
  Candidate must write first his / her Roll No. on the question 

paper compulsorily. 
 2. ¬˝‡Ÿ ¬òÊ ∑§ Á„UãŒË fl •¢ª̋¡Ë M§¬ÊãÃ⁄U ◊¥ Á∑§‚Ë ¬˝∑§Ê⁄U ∑§Ë òÊÈÁ≈U / •ãÃ⁄U / Áfl⁄UÙœÊ÷Ê‚ 

„UÙŸ ¬⁄U Á„UãŒË ÷Ê·Ê ∑§ ¬˝‡Ÿ ∑§Ù ‚„UË ◊ÊŸ¥ – 
  If there is any error / difference / contradiction in Hindi and 

English versions of the question paper, the question of Hindi 

version should be treated valid. 

 3. ‚÷Ë ¬˝‡Ÿ •ÁŸflÊÿ¸ „Ò¥U –  ¬˝‡Ÿ ∑˝§◊Ê¢∑§ 23 fl 24 ◊¥ •ÊãÃÁ⁄U∑§ Áfl∑§À¬ „Ò¥U –  
  All questions are compulsory. Question Nos. 23 and 24 have 

internal choices. 

 4. ¬à̋ÿ∑§ ¬˝‡Ÿ ∑§Ê ©UûÊ⁄U ŒË ªß¸ ©UûÊ⁄U-¬ÈÁSÃ∑§Ê ◊¥ „UË Á‹π¥ –  
  Write the answer to each question in the given answer-book only. 

 5. ¬˝‡Ÿ ∑˝§◊Ê¢∑§ 2 ‚ 5 Ã∑§ •ÁÃ ‹ÉÊÍûÊ⁄UÊà◊∑§ ¬˝‡Ÿ „Ò¥U – 
  Question Nos. 2 to 5 are Very Short Answer type questions. 
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 6. ¡„UÊ° ÷Ë •Êfl‡ÿ∑§ „UÙ, ÁøòÊ ◊¢ ÁfllÈÃ œÊ⁄UÊ ∞fl¢ ÁfllÈÃ ˇÊòÊ ∑§Ë ÁŒ‡ÊÊ ÁŒπÊÿ¥ – 
  Wherever necessary, show the direction of the electric current 

and electric field in the diagram. 

 7. Á¡‚ ¬˝‡Ÿ ∑§ ∞∑§ ‚ •Áœ∑§ ‚◊ÊŸ •¢∑§ flÊ‹ ÷Êª „Ò¥U, ©UŸ ‚÷Ë ÷ÊªÙ¥ ∑§Ê „U‹ ∞∑§ ‚ÊÕ 
‚ÃÃ˜ Á‹π¥ – 

  For questions having more than one part carrying similar marks, 
the answers of those parts are to be written together in 
continuity. 

 8. ¬˝‡Ÿ ∑˝§◊Ê¢∑§ 1 ∑§ øÊ⁄U ÷Êª ( i, ii, iii ÃÕÊ iv ) „Ò¥U – ¬˝àÿ∑§ ÷Êª ∑§ ©UûÊ⁄U ∑§ øÊ⁄U 
Áfl∑§À¬ ( •, ’, ‚ ∞fl¢ Œ ) „Ò¥U – ‚„UË Áfl∑§À¬ ∑§Ê ©UûÊ⁄UÊˇÊ⁄U ©UûÊ⁄U-¬ÈÁSÃ∑§Ê ◊¥ 
ÁŸêŸÊŸÈ‚Ê⁄U ÃÊÁ‹∑§Ê ’ŸÊ∑§⁄U Á‹π¥ —  

  There are four parts ( i, ii, iii and iv ) in Question No. 1. Each part 
has four alternatives A, B, C and D. Write the letter of the correct 
alternative in the answer-book at a place by making a table as 
mentioned below :    

  ¬̋‡Ÿ ∑̋§◊Ê¢∑§  
Question No. 

‚„Ë ©UûÊ⁄U ∑§Ê ∑˝§◊ÊˇÊ⁄U 
Correct letter of the 

Answer 

 

 1. (i)    

 1. (ii)   

 1. (iii)   

 1. (iv)   
1. (i) ÁŒÿ „ÈU∞ ¬Á⁄U¬Õ ◊¥ X ÃÕÊ Y Á’ãŒÈ•Ê¥ ∑§ ◊äÿ ÃÈÀÿ ¬Á̋Ã⁄UÊœ „Ò  

 

YX

20 !

20 !

20 !

20 !

20 !

 
  (•) 10 Ω (’) 80 Ω  

  (‚) 20 Ω  (Œ) 100 Ω –    
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  The equivalent resistance between the points X and Y of the 
circuit shown is  

YX

20 !

20 !

20 !

20 !

20 !

 

  (A) 10 Ω (B) 80 Ω 

  (C) 20 Ω (D) 100 Ω. 1
2   

 (ii) ©UŒÊ‚ËŸ ÃÊ¬ ∑§ ŸËø ÃÊ¬Ëÿ ÁfllÈÃflÊ„U∑§ ’‹  

  (•) ‚¢ÁœÿÊ¥ ∑§ ’Ëø ÃÊ¬ÊãÃ⁄U ’…∏UŸ ‚ ’…∏UÃÊ „ÒU  

  (’) ‚¢ÁœÿÊ¥ ∑§ ’Ëø ÃÊ¬ÊãÃ⁄U ’…∏UŸ ‚ ÉÊ≈UÃÊ „ÒU   

  (‚) ‚ŒÒfl ‡ÊÍãÿ „UÊÃÊ „Ò 

  (Œ) ‚ŒÒfl ÁŸÿÃ ⁄U„UÃÊ „Ò –  
  The thermo e.m.f. below neutral temperature 

(A) rises by increasing temperature difference between 

junctions 

(B) decreases by increasing temperature difference between 

junctions 

(C) always remains zero 

(D) always remains constant.   1
2   

 (iii) ÿÁŒ ŒÊ øÈê’∑§Ëÿ œÈ̋flÊ¥, Á¡Ÿ∑§Ë œ˝Èfl ¬˝’‹ÃÊ ∞∑§ ∞Áê¬ÿ⁄U-◊Ë≈U⁄U „ÒU ∑§ ◊äÿ ∑§Ë ŒÍ⁄UË  
10 ‚◊Ë „ÒU, ÃÊ ßŸ∑§ ◊äÿ ‹ªŸ flÊ‹ ’‹ ∑§Ê ◊ÊŸ „Ò 

  (•) 4π × 10 – 5  N (’) 4π × 10 – 7  N 

  (‚) 10 – 5  N (Œ) 10 – 7  N.  
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  If the distance between two magnetic poles of pole strength one 

ampere-metre is 10 cm, then the value of force experienced 

between them is  

  (A) 4π × 10 – 5  N (B) 4π × 10 – 7  N 

  (C) 10 – 5  N (D) 10 – 7  N. 1
2   

 (iv) ÿÁŒ ‚◊ÊŸ flª ‚ ‚◊ÊŸ ‚◊M§¬ øÈê’∑§Ëÿ ˇÊòÊ ◊¥ ∑§áÊÊ¥ ∑§Ê ‹ê’flÃ ¬˝ˇÊÁ¬Ã Á∑§ÿÊ 
¡ÊÃÊ „ÒU, ÃÊ ÁŸêŸ ◊¥ ‚ Á∑§‚ ∑§áÊ ¬⁄U ‚flÊ¸Áœ∑§ øÈê’∑§Ëÿ ’‹ ‹ªªÊ ?  

  (•) – 1  e 0   (’) 3  Li 7   

  (‚) 1  H 1   (Œ) 2  He 4 .  

  If particles of same velocity are projected perpendicularly in a  

same uniform magnetic field, which of the following particles 

experiences more magnetic force ? 

  (A) – 1  e 0   (B) 3  Li 7   

  (C) 1  H 1   (D) 2  He 4 . 1
2   

2. ©UŸ ŒÊ ¬ŒÊÕÊZ ∑§ ŸÊ◊ Á‹Áπ∞ Á¡Ÿ∑§Ê ¬˝ÁÃ⁄UÊœ ÃÊ¬ ªÈáÊÊ¢∑§ α ´§áÊÊà◊∑§ „UÊÃÊ „Ò –  

 Write the names of two substances, whose temperature coefficient of 

resistance α is negative. 1
2   

3. ‚Ë’∑§ üÊáÊË ∑§ ¬˝Õ◊ fl •¢ÁÃ◊ œÊÃÈ ∑§ ŸÊ◊ Á‹Áπ∞ –  

 Write the names of first and last metals of the Seebeck series. 1
2   

4. ©UŒÊ‚ËŸ Á’ãŒÈ ∑§Ê ¬Á⁄U÷ÊÁ·Ã ∑§ËÁ¡∞ –  

 Define neutral point. 1
2   

5. øÈê’∑§Ëÿ ˇÊòÊ ©Uà¬ÛÊ ∑§⁄UŸ ∑§ ∑§Êß¸ ŒÊ dÊÃ Á‹Áπ∞ –  

 Write any two sources to produce magnetic field. 1
2   
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6. ‚Ê’ÈŸ ∑§ ’È‹’È‹ ∑§Ê •Ê∑§Ê⁄U •ÊflÁ‡ÊÃ ∑§⁄UŸ ¬⁄U ’…∏U ¡ÊÃÊ „Ò – ÄÿÊ¥ ? •Êfl‡Ê ÉÊŸàfl fl 

’È‹’È‹ ∑§Ë ÁòÊÖÿÊ ◊¥ ‚ê’ãœ Á‹Áπ∞ –  

 The size of soap bubble increases on charging. Why ? Write the 

relation between charge density and radius of bubble. 1
2  + 12  = 1 

7. •ŸãÃ ⁄UπËÿ •Êfl‡Ê ∑§Ê •Êfl‡Ê ÉÊŸàfl 2 ◊Êß∑˝§Ê∑Í§‹ÊÚ◊ / ◊Ë≈U⁄U „ÒU – ÁfllÈÃ ˇÊòÊ ∑§Ë ÃËfl˝ÃÊ ∑§ 

◊ÊŸ ∑§Ê ©U‚ Á’ãŒÈ ¬⁄U ôÊÊÃ ∑§ËÁ¡∞ ¡Ê ß‚ ⁄UπËÿ •Êfl‡Ê ‚ ‹ê’flÃ 5  ‚◊Ë ŒÍ⁄UË ¬⁄U „UflÊ ◊¥ 

⁄UπÊ „ÈU•Ê „ÒU –  

 Charge density of an infinite linear charge is 2 microcoulomb/metre. 

Determine the value of electric field intensity at a point which is 5 cm 

away perpendicularly from this linear charge in air. 1 

8.  ‚‹ ∑§ ÁfllÈÃ flÊ„U∑§ ’‹ ∞fl¢ ≈UÁ◊¸Ÿ‹ flÊÀ≈UÃÊ ◊¥ ÄÿÊ •ãÃ⁄U „ÒU ? ÿ •Ê¬‚ ◊¥ Á∑§‚ Ã⁄U„U ‚ 

‚ê’ÁãœÃ „Ò¥ ?  

 What is the difference between electromotive force and terminal voltage 

of a cell ? How are they related with each other ?  1
2  + 12  = 1 

9. (i) ¬ÁÀ≈Uÿ⁄U ªÈáÊÊ¢∑§ ∑§Ë ¬Á⁄U÷Ê·Ê Á‹Áπ∞ –   

 (ii) ©U‚ √ÿ¢¡∑§ ∑§Ê Á‹Áπ∞ ¡Ê ¬ÁÀ≈Uÿ⁄U ªÈáÊÊ¢∑§ ∞fl¢ ‚Ë’∑§ ÁŸÿÃÊ¢∑§ ◊¥ ‚ê’ãœ ’ÃÊÃÊ „ÒU –  

 (i) Define Peltier coefficient. 

 (ii) Write the formula which shows the relation between Peltier 

coefficient and Seebeck coefficient.  12  + 12  = 1 
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10. ‡ÊÒÁÕÀÿ ∑§ ∑§Ê⁄UáÊ ™§¡Ê¸ OÔUÊ‚ ∑§Ë Œ⁄U ÄÿÊ „UÊÃË „ÒU ? ÿ„U ™§¡Ê¸ Á∑§‚ M§¬ ◊¥ ¬˝∑§≈U „UÊÃË „ÒU ? 

 What is the rate of energy loss due to Hysteresis ? In what form does 

this energy appear ?  
1
2  + 12  = 1 

11. ∞∑§ œÊ⁄UÊflÊ„UË ¬Á⁄UŸÁ‹∑§Ê, Á¡‚∑§ ’Ê∞° Á‚⁄U ‚ œÊ⁄UÊ ŒÁˇÊáÊÊflÃ¸ ’„UU ⁄U„UË „ÒU, ◊¥ ©Uà¬ÛÊ 

øÈê’∑§Ëÿ ˇÊòÊ ∑§Ê ÁøòÊ mÊ⁄UÊ Œ‡ÊÊ¸ß∞ –  

 In a current carrying solenoid the current is flowing clockwise from left 

end. Draw the magnetic field produced in it. 1 

12. ç‹Á◊¢ª ∑§ ŒÊÁ„UŸ „UÊÕ ∑§Ê ÁŸÿ◊ Á‹Áπ∞ –  

 Write Fleming’s right hand rule. 1 

13. 10 »§⁄UÊ¥ flÊ‹Ë ∞∑§ ∑È§á«U‹Ë ◊¥ ‚ê’h øÈê’∑§Ëÿ ç‹Ä‚ 0·1 ‚∑§á«U ◊¥ 0·8 fl’⁄U ‚  ÉÊ≈U∑§⁄U 

0·2 fl’⁄U ⁄U„U ¡ÊÃÊ „ÒU – ∑È§á«U‹Ë ∑§ Á‚⁄UÊ¥ ∑§ ◊äÿ ¬̋Á⁄UÃ Áfl0 flÊ0 ’‹ ∑§Ê ◊ÊŸ ôÊÊÃ   

∑§ËÁ¡∞ –  

 Magnetic flux associated with a coil having 10 turns decreases from 

0·8 Wb to 0·2 Wb in 0·1 sec. Find out induced e.m.f. across the ends of 

the coil. 1 

14. ÃËŸ Á’ãŒÈ •Êfl‡ÊÊ¥ ‚ ÁŸÁ◊¸Ã Á∑§‚Ë ÃãòÊ ∑§Ë ÁfllÈÃ ÁSÕÁÃ¡ ™§¡Ê¸ ôÊÊÃ ∑§ËÁ¡∞ –  

 Find out the electrical potential energy of a system made from three  

point charges. 2 
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15. ∞∑§ 6 µF ∑§ ‚¢œÊÁ⁄UòÊ ∑§Ê Áfl÷flÊãÃ⁄U 10 flÊÀ≈U ‚ ’…∏UÊ∑§⁄U 20 flÊÀ≈U ∑§⁄U ŒŸ ¬⁄U ©U‚∑§Ë 

™§¡Ê¸ ◊¥ flÎÁh ∑§Ë ªáÊŸÊ ∑§ËÁ¡∞ –  

 Calculate the increase in energy of a capacitor of capacity 6 µF when 

its potential difference is increased from 10 volt to 20 volt. 2 

16. √„UË≈US≈UÊŸ Á’˝¡ ∑§Ê ŸÊ◊Ê¢Á∑§Ã ÁøòÊ ’ŸÊ∑§⁄U ß‚∑§Ë ‚¢ÃÈÁ‹Ã •flSÕÊ ∑§Ë ‡ÊÃ¸ ¬˝ÊåÃ ∑§ËÁ¡∞ –  

 Draw labelled diagram of Wheatstone bridge and obtain its condition of 

balance. 1
2  + 1 

1
2  = 2 

17. ∞∑§ flÊÀ≈U◊Ë≈U⁄U ∑§ •¢‡ÊÊ∑§Ÿ ◊¥ 1·1 flÊÀ≈U ÁfllÈÃ flÊ„U∑§ ’‹ ∑§Ê ◊ÊŸ∑§ ‚‹ 5·5 ◊Ë≈U⁄U 

‹ê’Êß¸ ¬⁄U ‚¢ÃÈÁ‹Ã „UÊÃÊ „Ò – ÿÁŒ ∞∑§ 2·3 Ω  ∑§ ¬˝ÁÃ⁄UÊœ ◊¥ 0·11 ∞Áê¬ÿ⁄U œÊ⁄UÊ ¬˝flÊÁ„UÃ 

„UÊ, ÃÊ ©U‚∑§ Á‚⁄UÊ¥ ¬⁄U Áfl÷flÊãÃ⁄U Á∑§ÃŸË ‹ê’Êß¸ ¬⁄U ‚¢ÃÈÁ‹Ã „UÊªÊ ? flÊÀ≈U◊Ë≈U⁄U ß‚ ¬Ê∆KÊ¢∑§ 

∑§Ê 0·25 flÊÀ≈U ¬…∏UÃÊ „ÒU, ÃÊ ©U‚∑§ ¬Ê∆KÊ¢∑§ ◊¥ òÊÈÁ≈U ÄÿÊ „UÊªË ? 

 In a calibration of a voltmeter, a standard cell of e.m.f. 1·1 volt is 

balanced at 5·5 m length. If current of 0·11 A flows in a resistance of 

2·3 Ω, on what length the potential difference developed at its ends will 

balance ? If the voltmeter reads this reading 0·25 volts, calculate the 

error in its reading. 2 

18. ∞∑§ ß‹Ä≈˛UÊÚŸ r ÁòÊÖÿÊ ∑§ ∑§ˇÊÊ ◊¥ ∑§ˇÊËÿ flª v ‚ ¬Á⁄U÷̋◊áÊ ∑§⁄UÃÊ „ÒU – ß‚∑§ øÈê’∑§Ëÿ 

•ÊÉÊÍáÊ¸ ∑§Ê ‚ÍòÊ √ÿÈà¬ÛÊ ∑§ËÁ¡∞ –  

 An electron revolves with an orbital velocity v in an orbit of radius r. 

Derive the formula for its magnetic moment. 2 
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19. ¡’ Á∑§‚Ë ∑È§á«U‹Ë ∑§ ¬Ê‚ ¿U«∏U øÈê’∑§ ∑§Ê ŒÁˇÊáÊ œ˝Èfl ‹ÊÿÊ ¡ÊÃÊ „ÒU, ÃÊ ∑È§á«U‹Ë ◊¥ ¬̋Á⁄UÃ 

œÊ⁄UÊ ∑§Ë ÁŒ‡ÊÊ ÄÿÊ „UÊªË ? ÁøòÊ ’ŸÊ∑§⁄U ‚◊¤ÊÊß∞ –  

 When south pole of a bar magnet moves towards a coil, then what will 

be the direction of induced current in a coil ? Explain with diagram. 

   1
2  + 1 

1
2  = 2 

20. flÊ≈U„UËŸ œÊ⁄UÊ ∑§Ë ¬Á⁄U÷Ê·Ê Á‹Áπ∞ – ∞∑§ ¬Á⁄U¬Õ ◊¥ 100 flÊÀ≈U ∑§Ê ÁfllÈÃ flÊ„U∑§ ’‹  ‹ªÊŸ 
¬⁄U ∞∑§ ∞Áê¬ÿ⁄U ∑§Ë œÊ⁄UÊ ¬˝flÊÁ„UÃ „UÊÃË „Ò – ÿÁŒ œÊ⁄UÊ fl Áfl0 flÊ0 ’‹ ◊¥ π3   ∑§Ê ∑§‹ÊãÃ⁄U  

„ÒU – ôÊÊÃ ∑§ËÁ¡∞  

 (i) ‡ÊÁÄÃ ªÈáÊÊ¢∑§  

 (ii) ¬Á⁄U¬Õ ◊¥ •ÊÒ‚Ã ‡ÊÁÄÃ 

 (iii) ‡ÊÁÄÃ„UËŸ œÊ⁄UÊ ∑§Ê flª¸ ◊Êäÿ ◊Í‹ ◊ÊŸ – 

 Define wattless current. In a circuit, when 100 volt e.m.f. is applied, 

one ampere current flows. If the phase differernce between current and 

electromotive force is 
π
3  , calculate  

 (i) power factor 

 (ii) average power in the circuit 

 (iii) root mean square value of wattless current.  
1
2  + 12  + 12  + 12  = 2 

21. ∞∑§ ‹ê’Ë ¬Á⁄UŸÁ‹∑§Ê ∑§ Sfl¬˝⁄U∑§àfl ∑§Ê √ÿ¢¡∑§ ¬˝ÊåÃ ∑§ËÁ¡∞ –  

 Obtain formula for self-inductance of a long solenoid. 2 
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22. ’ÊÿÊ-‚Êfl≈¸U ÁŸÿ◊ ∑§Ê ∑§ÕŸ ∞fl¢ ªÁáÊÃËÿ M§¬ Á‹Áπ∞ – Á∑§‚Ë ‚Ëœ ÃÕÊ ¬Á⁄UÁ◊Ã ‹ê’Êß¸ ∑§ 

œÊ⁄UÊflÊ„UË øÊ‹∑§ ÃÊ⁄U ∑§ ∑§Ê⁄UáÊ ©Uà¬ÛÊ øÈê’∑§Ëÿ ˇÊòÊ ∑§Ê √ÿ¢¡∑§ ¬˝Ê# ∑§ËÁ¡∞ ∞fl¢ Œ‡ÊÊ¸ßÿ Á∑§ 

ÿÁŒ œÊ⁄UÊflÊ„UË øÊ‹∑§ •ŸãÃ ‹ê’Êß¸ ∑§Ê „UÊ, ÃÊ ©U‚‚ ‹ê’flÃ ŒÍ⁄UË d ¬⁄U ÁSÕÃ Á∑§‚Ë Á’ãŒÈ 

¬⁄U øÈê’∑§Ëÿ ˇÊòÊ B = 
µ 0 I

2 π d  „UÊÃÊ „Ò – •Êfl‡ÿ∑§ ÁøòÊ ’ŸÊß∞ –  

 State Biot-Savart’s law and write its mathematical formula. Deduce an 

expression for magnetic field produced by a current carrying straight 

conductor of finite length. Hence show that magnetic field produced at 

a point by current carrying straight conductor of infinite length at a 

perpendicular distance d from it is B = 
µ 0 I

2 π d  . Draw necessary 

diagram. 1 + 1 
1
2  + 12  + 1 = 4 

23. ªÊ©U‚ ∑§ ÁŸÿ◊ ∑§Ê ∑§ÕŸ ∞fl¢ ß‚∑§Ê ªÁáÊÃËÿ M§¬ Á‹Áπ∞ – ªÊ©U‚ ∑§ ÁŸÿ◊ ‚ ∞∑§ ‚◊M§¬ 

•ÊflÁ‡ÊÃ •¬Á⁄UÁ◊Ã øÊ‹∑§ ¬⁄UÃ ∑§ ∑§Ê⁄UáÊ ©U‚∑§ ‚◊Ë¬ ∑§ Á∑§‚Ë Á’ãŒÈ ¬⁄U ÁfllÈÃ ˇÊòÊ ∑§Ë 

ÃËfl˝ÃÊ ∑§Ê √ÿ¢¡∑§ ¬˝Ê# ∑§ËÁ¡∞ – •Êfl‡ÿ∑§ ÁøòÊ ∞fl¢ ÁfllÈÃ ˇÊòÊ ∑§Ë ÃËfl˝ÃÊ ∑§Ë ¬Îc∆UËÿ •Êfl‡Ê 

ÉÊŸàfl ¬⁄U ÁŸ÷¸⁄UÃÊ ∑§Ê fl∑˝§ ’ŸÊ∑§⁄U Œ‡ÊÊ¸ßÿ –  

•ÕflÊ 

 ÁfllÈÃ fl Ámœ˝Èfl •ÊÉÊÍáÊ¸ ÄÿÊ „ÒU ? ‚◊M§¬ ÁfllÈÃ ˇÊòÊ ◊¥ ⁄Uπ ∞∑§ ÁfllÈÃ Ámœ˝Èfl ∑§Ê ©U‚∑§Ë  

SÕÊß¸ ‚ÊêÿÊflSÕÊ ‚ θ 0  ∑§ÊáÊ ‚ ÉÊÈ◊ÊŸ ◊¥ ‚ê¬ÛÊ ∑§Êÿ ̧∑§Ë ªáÊŸÊ ∑§ËÁ¡∞ – ÿÁŒ ÉÊÈ◊Êfl ∑§ÊáÊ  

( θ 0  )  ∑§Ê ◊ÊŸ 90°  fl 180° „UÊ, ÃÊ ∑§Êÿ¸ ∑§ ◊ÊŸ ÄÿÊ „UÊ¥ª ? •Êfl‡ÿ∑§ ÁøòÊ ’ŸÊßÿ –  
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 State Gauss law and write its mathematical formula. Using Gauss law, 

obtain an expression for electric field intensity at a point near to a 

uniformly charged infinite conducting sheet. Draw necessary diagram 

and show the variation of intensity of electric field with surface charge 

density by graph. 1 + 2 + 1 = 4 

OR 

 What are electric dipole and electric dipole moment ? Calculate the 

work done in rotating an electric dipole kept in uniform electric field by 

an angle θ 0  from its stable equilibrium state. If value of rotating angle 

( θ 0  ) becomes 90° and 180°, then what will be the value of work   

done ? Draw necessary diagram. 1 + 2 + 1 = 4 

24. ‚¢œÊÁ⁄UòÊ Á∑§‚ ∑§„UÃ „Ò ?  ß‚∑§Ê Á‚hÊãÃ Á‹π¥ – •ÊflÁ‡ÊÃ ‚¢œÊÁ⁄UòÊ ◊¥ ‚¢ª̋Á„UÃ ™§¡Ê¸ ∑§ Á‹∞ 

√ÿ¢¡∑§ ¬˝Ê# ∑§⁄¥U – ÿ„U ™§¡Ê¸ ∑§„UÊ° ‚¢ª̋Á„UÃ ⁄U„UÃË „Ò ? ‚◊ÊãÃ⁄U ¬ Ô̂U ‚¢œÊÁ⁄UòÊ ∑§Ê ŸÊ◊Ê¢Á∑§Ã ÁøòÊ 

’ŸÊßÿ ∞fl¢ ©U‚◊¥ ©Uà¬ÛÊ ÁfllÈÃ ˇÊòÊ ∑§Ë ÁŒ‡ÊÊ ∑§Ê ¬˝ŒÁ‡Ê¸Ã ∑§ËÁ¡∞ –  

•ÕflÊ 

 flÒlÈÃ œÊÁ⁄UÃÊ ∑§Ê ¬Á⁄U÷ÊÁ·Ã ∑§ËÁ¡∞ – Á‚h ∑§⁄¥U Á∑§ ¡’ „U◊ ŒÊ •ÊflÁ‡ÊÃ øÊ‹∑§Ê¥ ∑§Ê Ÿªáÿ 

œÊÁ⁄UÃÊ ∑§ øÊ‹∑§ ÃÊ⁄U ‚ ¡Ê«∏UÃ „Ò¥U, ÃÊ ©UŸ∑§ Áfl÷fl ◊¥ ¬Á⁄UflÃ¸Ÿ ∑§Ê •ŸÈ¬ÊÃ ©UŸ∑§Ë œÊÁ⁄UÃÊ•Ê¥ 

∑§ •ŸÈ¬ÊÃ ∑§ √ÿÈà∑̋§◊ÊŸÈ¬ÊÃË „UÊÃÊ „Ò – •Êfl‡ÿ∑§ ÁøòÊ ’ŸÊß∞ –  
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 What is a capacitor ? Explain its principle. Derive an expression for 

energy stored in a charged capacitor. Where is this energy stored ? 

Draw a labelled diagram of parallel plate capacitor and show the 

direction of electric field produced in it. 1 + 2 + 1 = 4 

OR 

 Define electrical capacity. Prove that when we connect two charged 

conductors by a conducting wire of negligible capacity the ratio of 

change in their potential is inversely proportional to ratio of their 

capacities. Draw necessary diagram. 1 + 2 + 1 = 4 

    


